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QUESTION 1

Panes in QTP can have one of the following states docked or floating.
A. True

B. False

Correct Answer: A

QUESTION 2

We can retrieve or modify property values of the test object during the run session by adding statements in the Keyword
View or Expert View.

A. GetROProperty and SetROProperty
B. GetTOProperty and SetROProperty
C. GetTOProperty and SetTOProperty
D. GetROProperty and SetTOProperty

Correct Answer: C

QUESTION 3

The is the mechanism used to identify objects during run session
A. Smart identification

B. Handling object

C. Recovery scenario

Correct Answer: A

QUESTION 4

What is the shortcut key to Clear all Breakpoints.
A. Alt + Ctrl + F9

B. Alt + Shift + F9

C. Ctrl + Shift + F9

D. Shift + Ctrl + F9
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Correct Answer: C

QUESTION 5

The correct syntax of the condition statement starting with Do is .
A. Do...While

B. Do...Until

C. Do...Next

D. Both A) and B)

Correct Answer: D
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